5.1

f/(x,)>0 f'(x,)<0 X,  f(x)
f/(X,)>0 0>0 0<X=X, <0
W>O f(x)—f(x,)>0 f'(x,)<0 0>0
—0<X—=Xy<0 M< 0
X— X,
f(x)-f(x,)>0
2  Darboux f(x) (ab) X, X, € (a, b)
fr(x)- f'(x,) <0 X %X & f'(€)=0
X # X, X, < X, f'(x)>0 f'(x,)<0 1
X, < Xg < Xy <Xy fx)<f(x) f(x)<f(x,) X, X,
f(x) FO) %] & € (X, %)
fr(€)=0 f'(x) <0 f'(x)>0 FO) X x]
& € (X, %) fr(€)=0
3 Lagrange
[-1,1] sgn(x) x=0 Lagrange
le éie(_]_’]_)’ f'(g):]_

1-(-2)

[-1,1] | x| x=0 Lagrange
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f(l)—f(—l):O Vée(-11),E#0,f'(E)=+120

1-(-1)
4, f(x) [a, b] (a, b)
x f(x) 1
y(x)=la f(a) 1
b f(b) 1
Lagrange v(X)
w(@)=w()=0 Rolle Rolle
(a, b) g
1 ¢ 0
y'(@)=a f(a) 1=7f(5Hb-a)-[f(b)-f(a)]=0
b f() 1
Lagrange

(x, F(x)) (a, f (a)), (b, T (b))

w(X) w (X)
5 00 g0 [ab] (a,b) @b
¢
‘f(a) f(b):b_a)‘f(a) @)
0@ o) 0@ ¢
f(a) f (b) f@) (0
F - F(a)=F(b) =0
() = (b)‘( Q-6-a) 5 " (@) - F(b)
Rolle (a, b) £
f@) () f@) 1)
F() = —(b- -
€)=l g(b)‘ ( a)‘g(a) 0
5] f(x) [a,Db] (a, b) (a, b)
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f(b)—f
Ot

f(x) (a, b)

(&, 1(2) (a f(a)). (b, f (b))

(€. () (a f(a)), (b, f (b))

fe)-f@ _ fb)-f(@)_ fb)-T()

—a b—a b-¢&

Lagrange

F1(&) >M > 118,)

max] (&) || &) > 2= @),

&e@é) s e b)),

— (& 1)

[a,b] (a,b)
[a,b]
lim nz(arctanE —arctan i) a=0
n—>e n n+1
a a
arctan — —arctan —— 1
Lagrange n n+l__ -
a__a._ 1+¢
n n+l
a 1
- n— o
n 1+&°

n—oo

(a f(a)). (b, f (b))

5

n n+1 n—on41 a

a

n

. na 1
=lim| —- > |=a
rHw(n+1 1+¢ j
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n+1

a
arctan — —arctan ——
., a a . ha n n-+
limn<| arctan ——arctan—— | =lim

n+1



8

9

10

Lagrange
[sinx —siny|<|x—-Y];
ny"t(x—y)<x"—y"<nx"*(x—y) (n>1 x>y>0);
b-a _,b_b-a (b>a>0);

a a
e*>1+x (x>0).
|sinx—siny|=|cosé-(X—y) || x—y|

X" —y" =nE"(x-y), X>&E>y>0 X" EM Sy S0

ny" (x—y)<x"—y"<nx"*(x—y) (n>1, x>y>0)

InE:Inb—Inazi(b—a) b>¢>a>0 1<i<1
a & b a

e'—l=e -’ =ef(Xx-0)>X, X>&>0
f(x) [ab] XX,
|F () = F06) 1< (6 —%,)°
f(x) [ab]
() = F06) 1< (6 —%,)° f(x) [aDb]

)= T00) i im 1 —x =0 £10x,) =0

XX

X, €(a,b) lim]

X —>Xp 2

f'(x) (ab) 0 f(x) [a b]

. T
arcsin x +arccos x = 5 x €[0,1]

3arccosx —arccos(3x —4x3)=n  Xxe {—%ﬂ
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. 2X
2arctanx+arcsm1 > =7 X e€[l+0).
+ X

1 f (x) = arcsin x +arccos x

f'(x)=\/1ixz— ! - =0,vxe (0,1

N

f() [01] f(x) = f(0) =%

2 f (x) = 3arccos x —arccos(3x — 4x%) 1-4x*>0,Vx e (—%,%)

11
=0,vxe(-=,=
(=53)

, 3 3-12x2
f'(x)=- +
V1-x2 J1-(3x—4x)?

f(x) [—%,%] f(x)zf(0)=3%—%=7r

3) f (x) = 2arctan x+arcsin12X2 x*—1>0,vx>1
+X

2\ fy2
f'(x):122+ 1 2(1+x°)—4x _0,vx>1

+X 2X . (1+x%)°

1-(

1+ X2

_ _oF
f(X) [L+0) ()= =27+ =
11 f(x) [a b] (a, b) (a, b)

f/(x)=0 f(x)> 0 f(x) [a,b]

a=X, <X < <X <X =Db X Xy Xy F(X)

£ [X.%.] (=0L-n-1) f(x) [ab]

0, x=0;
f(x)=

3.2 (M2) | 9-(n+2) COS(E—n)ﬂ', i< XSE,HZLZ,---.
X n+1 n
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f(%) oo f(%+) fx) [0.]

1
T <x<=
n+1 n
—(n+2) 1
f'(X) =——=—sin(=-n)z >0 f(x) [01] f'(=)=0
X X n
f'(x) (0,1
12
. T, . 1
Zx<sinx<xxe(0>); 3- =< 2%, x>1;
T 2 X

2

X—X?<In(1+x)<x, x> 0; tanx+25inx>3x,XG[0,%j;

5o <X+ (=X <L xeol] (p>1)

tan x X [ ﬂj
—>——  Xe|0,=]|.
X sin X 2

1 =222 xe@Z)
X 2
f,(X)=xcosxz—smx:cosx(x;tanx)<O’
X X
sin -
fx) 05 22 SINX_pimSinX _4
2 V2 K X x=0 X
2
—X<sinXx<X, XE(O,Z)
V4 2
2 tm=2x-(B-Y) =0
X
1 1
f'(X)=—=-—>0, x>1
(x) N
f(x) [1,+0) f(x)>0

1
3—;<2\/?, x>1

3 f(x)=In(1+ x)—(x—X?z)

101



2
>0, x>0

Fi) =t 1 x=
1+x 1+x

f(x) (0,+x) f(0)=0 f(x)>0,vx>0
In(1+x)>(x—X—22), x>0
g(x) =x—=In(1+ x)

1 X
X)=1-—=——>0, x>0
9% 1+x 1+X

g(x)  (0,+x) g(0)=0 g(x)>0,¥x>0
x>In(l+x), x>0

4 f (x) = tan x + 2sin x — 3x VXe[O,z)
2

f'(x) =sec? x + 2cos x — 3> 33/sec? xcos xcosx —3 =0
x=0 f(%) f(x)>0
tan x + 2sin x > 3x XE(O,%)

5 f(x)=xP+@1-x)", f'(x)=p(x""-1-x)"") (0,%)

1 1 1
=1 f(x 0,= -1
G (0 [07] [
f 1 1 f(0)=f@)=1 f =0,1
(x) X=3 S 0)=1f@)= (x)  x=0,
1
L <xP+(@1-x)P <1 xe[0,]]
vt - =
6 f (x) = sin xtan x — x? XE(O,%)
. . ) 1 2sin®x
f'(x) =sin x +sin xsec” x — 2x f"(x) =cosx+ + 72
COSX  cOos” X
f"(x)>0 f'(0)=0 f'(x)>0 f(0)=0 f(x)>0
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13 (0.1)

1 @+x)IN°@A+x)<x?

2 i—1< L —l<l
In2 Inl+x) x 2
1 f(X)=x* =L+ x)In*(L+x)

f'(x)=2x-In*1+x)-2In(1+X)

In(1+x)_ 2 _2(x—|n(1+x))>
1+ X 1+ X 1+ X

f(0)=0 f'(x)>0 f(0) =0 f(x)>0

fr(x)=2-2

0, xe(0,1)

(1+x)In*(1+x) < x?, xe(0,2)

1 1

2 )= Inl+x) x 1
Fig = X)'”Z(ljx)‘xz <0, xe(0,)
X“(1+x)In“(1+ x)
f0 (0 £(1) :%_1
£(0+) = lim X=In(1+x) i x=Inl+x) _1
S0 xIn(L4x) o0 x? 2
1 1

-1< —l<l xe(0,1)
In2 Inl+x) x 2

14 n nx2
X"+ X" e xP 4 x=1
(0.) X, lim x,
f(X)=x"+x""+-+x*+x-1 x e (0,1)

f'x)=nx""+(N-D)x"?+---+2x+1>0
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f(x) (01 n>2 f(0)=-1f (1)=n-1>0

f(x) (09 X, {Xn }

limx, =a O<axl n>2 O<x,<x <1

n—oo

limx; =0

n—oo

x,1-x7) a

I=lim(x) + X"+ + X2+ %) = lim
n—oo

oo 1— X, l1-a
1
a=—
2
. 1
limx, ==
n—w 2
15 f(x) [01] 0,0) f(0)=f@1)=0
f(lj 1
2
1
1 ée(?lj f(&)=¢
2 A 1 €(0,8)

f'(n) - ALt (n) —n]=1
1 F(x)= f(x)—x F(x) [01]

1, 1
FE)==>0F1)=-1<0
(5)=5>0F0)

ée(%,lj F&=0  f()=¢
2 G(x)=e *[f(x)-x] G(0)=G(&) =0 Rolle
n€(0,8)
G'(n7) =e~""[f '(57) -1 -Ae"[f (17) —17] =0
f'(n) - ALt (n) —n]=1
16 f(x) g(x) [a,b] (a, b)
g'(x) #0 (xe (a,b)

o(x)=f(x)-f(a) g(IO)_g((,i)[g(X) g(a)]
g(x) f(x) 1
v(x)=|g(a) f(a) 1|,

g(b) f(b) 1
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Cauchy o(x)  w(x)
o(a) = p(b) =0 Rolle £e(a,b)

o) = 1)~ O=1@ gy _g

g(b)-g(a)
Cauchy
x=g(t)
70 {y:fa>
(g(a), f(a)) (g(b), f (b))

w(a)=w(b)=0 Rolle £e(a,b)
g f'(©) 0
g@ f(a) 1
gb) f() 1
Cauchy
v (X) (9(x), f(x)),(g9(a), f(a)),(g(b), f (b))

y'(&)= =9'(e)f(a)-T(B)]-f'(S)9(a)-g(b)]=0

v(x)
17 ab>0 f(x) [ab] (a,b)
& e(ab)
2¢[f(b) - f(a)]=(b* —a®) f'(&)
g(x) = x? f(x),9(x) Cauchy
Ee(ab)

fb)-f(a) _ f'(9)
b® —a’ 28

2&[f(b) - f(a)]=(b* -a*)f'(¢)
18 a,b>0 Se(ab)
ae® —be? = (1-<&)e‘(a—h)
f (X) =%, g(x) :% Cauchy £e(a,b)

G
- -9

ae” —be® = (1-&)ec (a—b)
19 f(x) [ab] ab>0 (a,b) £e(ab)
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1 | a b ,
b_alf(a f (b)‘=§f &) -1(5)
% % Cauchy Se(ab)
fb) fa Fe-1()
b _ &’ _ e
1_1"" = T =—{f'(£)¢- ()]
b a £
SO - et
—a
20 f(x) [L+w) (1,+00) e f'(x) (L+x)
e f(x) (L+o)
e f(x) [12] X>2 Cauchy

. | FO)—F@, [fFDO] [FO)-F@] [ TO] ey f (1)
le ™ f(x)|< > +| 2|< - —— :\eff(g)\+|e—2|

e e* —¢ e
e f(x) (L +0)
21 f'(x) (0,a] lim /x£/(x) f(x)
(0,a]
F)-1() _ T _, z¢.
= =2{& (&)
R N
2,J¢
JxE'(x)  (0,a] Jxf'(x)  (0,a]
lim /xf'(x) JxE(x)  (0,a]
22. f(x) x=0 n

f(0)=f'(0)=-=f""0)=0 Cauchy
f(x)  fO(x)

x" nl

Cauchy

fox) _f)-fO) _f'&)_fEQ)-f'0__ %)
X" X" —0" ng"™  nE"-n0"t n(n-1)&M°
L A (% B Sl (9 ol e (OB R (9

N, nE,-0 ol

0 e(0,1) & =0x

(0<6<)

6 €(0,%)

23
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"ry" " ex+ey  xty
X+ 2(X+yj,x,y>0,n>1; >ez2, X=#Y.

2 2 2
1 f(x)=x" n>1
f'(x)=nx""
f"(x)=n(n-1)x"?>0, Vx>0,
f(x) (0,4)
X" +y" 2(x+y)”, X y>0
2 2
2 fx)=¢"
f'(X)=f"(X)=e">0  xe&(~o0,+x)
F(X) (o0, +o0)

ex+ey  xy
S, ez, X#y

24 Jensen f(x) [ab]

x;efab] A4 >0 i=12--n > =1
i=1

f(izixijsi (x,)

i=1 i=1
k=2 Jensen
k=n-1 Jensen k=n

n n-1 Z_ll/lixi
f(ZAixi]:f CA) A+ 2 x

n-1 n=n
i=1 i=1 ﬂ,
n-1
n-1 %iixi
s(z/iij — + 4, F(X,)
i=1 ;E:/h
i=1
n-1 n-1 /’L n
3[ /%Jznl' FO6)+2,F06) =2 A4 F (%)
i=1 i=1 )h i=1
2
Jensen n
25 a,b,c
a+b+c
(abc) 3 <a®b°ct
f(x)=xInx
f'(x)=1+Inx,

f "(x) =%>0, Vx>0,
f(x) (0,+x)
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a+b+c, a+b+c alna+blnb+clinc

In < , Va,c,b>0.
3 3 3
\3/abcsa+g+c, va,b,c>0
a+b+c|n3abcga+2+c|na+2+cgalna+bl?t1b+clnc1

a+b+c

a+b+c)Indabc =In(abc) ® <alna+bInb+clinc=In(a*h’c®),
(

26 F(x)  (a +) lim £1(x)=0 lim ff(x) 0
lim £/(x)=0 Ve>0,3X'>0, Vx> X' |f’(x)|<§
X, > X' IX > X,, VX > X ‘@ <% Lagrange
O] _[£0) , FOO- ) x= x|<| |f(x)—f(x)||x X, |
| x | | x X — X, K Xx-% || x
f(x,) vy |X=X| &, &
—‘ » +|f(§)|‘—X <Sty=¢
lim —= f(x) =0
X—>+0 X
27 f(x) [ab] (a,b) 5 < (a,b)
2
(o)+ 1@ -21 (2D - (b;aj ()

909 = £00 - F(x-222)
(a—”))—f(a—”’)—f(a) 9) = 1) 1(2)
{aTer b} g(x) Lagrange

a+b a+b

o)+ f@)-2f(—=)=9gb)-9(=-) = g(é’)(—)

()~ f (5—b—a)](b—a)— 2 (77)(—)
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